20175 E PFRARRAE 584 FEIRIY—S 13F—L

$—HE 20175108140 (L) FBIRI—J HEHM 156555155

®m | & | N AI—F(TYFFILED Rl | R2 | Mo BI—F(FHEN) Rl | R2
11400 1435| @ |evbonB| 8 20 1 |EKkB @| ®mys| 1 2 4 |mEB
2| 14:40| 1515| @) |FUFLwsa 12 20 0 | FE#A @| mEA 3 20 0 |KAT
3| 15:20| 1555| B [RuFLwsc| 5 S 1 |[EvhInA ® —
4|1600 1635| @ |&vbonB| 5 2% 1 |Eras BEB 1 00 6 |WHB
5 1640|1715 @ | FEH| 0 27 10 [FEA KET| 0 00 2 |[MTLuse
6| 17:20| 1755| (D |&~ronA| 1 (S 3 |24 ® -
7/ 1800| 1835| @ [€¥bo0B| 0 (24 2 [HEB BEB 0 00 4 |Eye
8| 18:40| 1015| (9 |FuFLwsal 4 220 1 [gEA HEA| 2 0 0 |MFLwse
9| 19:20| 1955| (D [PuFLwsc| 3 20 1 |24 —
JIL—TA BHiE
——— | FJJL9FA THE BRA B a5 WA B %X = [IBa
FIFLvEA 12 @ 0 4 @ 1 2 0 0 6 | 16 1 [ 15[ 1
FRB 0o — 12 0 @ 10 0 2 0 [} 0o |22 22| 3
BEA 1= 10 — 0 1 1 0 3 | 11| 4] 7 2
J)—7B Bifx
] HEPA FAT FITLyEB | 8 | & | » [B&]| & | % | = [N
WA 3 @ o 2 0 2 | 0] o] 6] 5 0] 51
g3 0o — 3 0 2 0 2 oo o [5]-5]3
rFLvsB 0 — 2 2 — 0 1 1 0 3 2 | 2 0 2
J—JC Kz
———— [ FJIFUvAEC BUFSILA = %] 8] 5 MR & | X = |[IEk
KJFLviC 5 ® 1 3 @ 1 2 0 0 [ 8 [ 2] 6 1
EUFS A 1 -5 1 3 0 2 0 0 2 | 8] 6| 3
&5 i -3 3 — 1 1 1 0 3 4 4 0 2
J—7D BiltE
———— | ®JF5LB ®EB E2ES B B als (B&l 8 x| 2 [IEE
2VFSLB 8 D 1 5 @ 1 0o @ 2 2 1 0 6 [ 13] 4 9 [ 2
®EB i — 8 0 () 4 1 ® 6 o | 3] o] o] 218 [-16]4
Ers 1 -5 4 — 0 1 @ 4 1 2 [ 0] 3 6 9 [ 3] 3
HEB 2 — 0 6 — 1 4 — 1 3 ool e 2] 21|
20175 E HBEBERAE 544 FE2RU—Y 18F—4
$_HH 20174 10§28H(t) SI SIU—/HAKMN 155—55—154 FLIFU—/HEKM 105-35-105
| % | N AS—=F(ToFFILED R1 | R2 | No. BI—F(FEEHA Ri | R2
11400(1423) D |  FBS| 0 §5 2 & @ |[evbsnal 0 31 2 @ras
2| 14:26 1501 B BA| 1 (S0 0 |EE#A @ |[evb5nB| 2 H=3 0 [FLvsc
3| 15:04|15:27| ®) FEA| 0 0L 4 |BEB ® xar| 1 93 0 [orSnA
4|15:30(16:05| @ |FUFLwsal 5 10 0 [ryFLwss £ 2 2-2 2 |mEB
5|16:08| 16:31| (9 THa 0 (-4 8 |Esa B 4 23 0 |@EB
6|16:34(17:09| @ Al 2 -0 0 5B ® gxAl 0 IM 1 [buFLwsc
7]17:121747| @ [FuFvvzal 1 920 0 |4y FuFuwss| 1 (=0 1 |EHEB
8|17:50( 18:13| @ FES| 1 =3 0 |[£vh5LA Eoa| 4 220 o mEB
9 (1816|1851 @ A 3 2-1 1 [ruTuwsc gxal 1 {122 2 |evioaB
10| 18:54 | 19:29 rFLvEA| 3 Oj—g 0 |®iEB @ |rFLusB| 2 —j—? 1 |%&H
11/ 19:32 | 19:55| @D #Er| 0 5-J 0 |Eso @ |evrsnal 1 =Y 0 [EEs
=ERX L7V 1. =5 H
Os1y—J K=
FITLvEA r)TLv4B E il HHB B | & | 5 (#al § | % | 2 IRk
FJTLvEA 5 @0 T 13 0 3 (9 0 3100990971
FFLwEBl 0 — 5 2 Qp 1 T4 1 1 4 3 7 -4 2
£ 0 — 1 T — 2 2 (8 2 0 3 [ 5 2] 4
BEB| 0 — 3 T — 1 2 — 2 0 2 3 6 | =3 | 3
Qsuy—4 BME
| HHEBA %A +#UM5LB rTLyaCc B | 8 | 5 |Bal 5 | & | = |IEM
REBA 1 0 2 ) 0 3 ap 1 31009 6 [ 1[5
BRA 0 — 1 1 a8 2 0 () 1 0 [ 30 1| 4 [ -3 4
®UFSLAB[ 0 — 2 2 — 1 2 @ 0 2 [ 1[0 4 3 [ 1 | 2
FJJuvEc] 1 — 3 T —0 0 — 2 T 1210 2 [ 53] 3
OTLITY—F Mk
FE& ZHT BURSIVA EsH BEXB Bl a8l 5 |Bal &
FEHAE 0 D 2 @ 0 © 8 0 (5 4 1 [ 30731
ABT| 2 — 0 6) 0 0 @) 0 4 (D 0 30 1 [10] 7
EUSLA 0 — 1 0 — 1 0 (2 2 @ 0 T 3 [ 0] 31
=8 8 — 0 0 — 0 2 — 0 4 ) 0 30 [ 1 [10] 14
BEB[ 4 — 0 0 — 4 0 — 1 0 — 14 1 3 [ 0| 3 4
20175 E UFEERARRXE 54 BERREMFAVNST-STU—J-&FLEM2F—L)
£=HB 2017F118118(X) REr—FTA+ HEBHE 159—55—15% 0:35 0:05
& # | No. AS—F(TYFFILED RT [ R2 | No. BI—FAEREHA R1 [ R2
# SI1fL 4 19 g ST 261 SI2fz 0 99 4 SI1fx
| 1800 1835| D |y, 00 ) @ |\ yruvss 2 WA
2 (O] 9 [00 @k [O):1 o [0 1] @n&a
5 (185010251 @) |\ gn 211 HH#A @ | porsne 2H0 FFLEB
R PK PK
3
; | 1
34
2 ‘ 1
4| ‘ |o 0 ‘ 1
‘ FTLvSA | | £URSILB | ‘ FTLvsB ‘ | HHA |




